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Instructions

The competition is divided into three parts: A, B and C. Section A: 1st to 15th Question (Each carries 2
marks) . Section B: 16th to 30th Question (Each carries 4 marks) . Section C: 31st to 40th Question (Each
carries 6 marks) . The time is 60mins, with a total of 40 questions and a full score of 150 marks.

Please write your answers neatly ONLY on the Answer Sheet provided, all questions need to be completed.
All questions are blank filling questions, just write the answer directly.

All answers must be in exact value and in its simplest form. Approximations are not accepted.

Please use a pencil, black ballpoint pen, or blue ballpoint pen to write down your answers.
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Section A: 1st to 15th Question (Each carries 2 marks)
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Find the value of the following expression.
10°-9° +8 -7 +6° -5 +4° -3 +2° -1* =

[#%155
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Find the value of the following expression.
12.5x31.4+1.25x567 +0.125x 70 =

[#%] 1110
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Section B: 16th to 30th Question (Each carries 4 marks)
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The chickens and rabbits have 84 feet in total. If the number of chickens and rabbits is exchanged, there
are 78 feet in total. Then how many chickens and rabbits are there?
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It takes 45 seconds for a train to pass through a 900 meter long bridge and 55 seconds to pass through a
1200 meter long bridge. What is the speed and length of the train?
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Section C: 31st to 40th Question (Each carries 6 marks)

) #-525 47 A NBAFA Rz fo (N>1)> 5 527w ?

How many possibilities can 525 be expressed as the sum of N consecutive natural numbers? (N >1)
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